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4th Month, 2nd Week, 4th Day [Syllabus: Unit # 7: Aqueous solution to particle

model of solution.

4th Month, 2nd Week, 4th Day [Syllabus: Unit # 7: Aqueous solution to particle

Q.No.1 Encircle the correct answer from the following choices. (0.5%6=3)
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1. Which metal dissolve solid gold easily at room temperature?

model of solution.
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Q.No.1 Encircle the correct answer from the following choices. (0.5%6=3)
- bﬁu/'l»)’éu’fnu’/.,«E’"K,«’ﬁc//)c_u.‘.'(f”;'@u

1. Which metal dissolve solid gold easily at room temperature?
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2. Which property of solution remain same in every part of it?
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2. Which property of solution remain same in every part of it?
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3. A solution in which water is used as a solvent is called:
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3. A solution in which water is used as a solvent is called:
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5. Which of the following is a universal solvent?
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5. Which of the following is a universal solvent?
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Q.No.2. Write the short answers. 2x2=4) -u.;“’d c.’«l,’;?/‘?
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Q.No.3. Write a note on types of solutions. A3
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(i) Why is solution a homogeneous mixture?

(ii) Which substances cannot dissolve is water?
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(i) Why is solution a homogeneous mixture?

(i) Which substances cannot dissolve is water?



